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QUESTION 1

A company has recently acquired Guardium software entitlement to help meet their upcoming PCI-DSS audit
requirements. The company is entitled to Standard Guardium DAM offering.

Which of the following features can the Guardium administrator use with the current entitlement? (Select two.)
A. Run Vulnerability Assessment reports

B. Generate audit reports using PCI-DSS Accelerator

C. Block and quarantine an unauthorized database connection

D. Mask sensitive PCI-DSS information from web application interface

E. Log and alert all database activities that access PCI-DSS Sensitive Objects.

Correct Answer: AB

QUESTION 2

AGuardium environment is set up to send daily reports to users. The users are complaining that their report has not
been delivered to their inbox for the past week. What is the first action the Guardium administrator should take in order
to diagnose the problem?

A. Open a ticket with IBM Support.

B. Pause the User Portal Sync process.

C. Check in the Aggregation/Archive log.

D. Check in the Scheduled Job Exceptions.

Correct Answer: D

QUESTION 3

An administrator manages a Guardium environment including 4 Collectors exporting data to an Aggregator. The
Collectors export their data daily at 2, 3, 4 and 5 am Eastern Standard Time (EST) respectively. The Collectors receive
traffic every day. The logs on all the Collectors confirm data is exported daily without errors, and all the exported files
always have data. A Session report is run on the Aggregator at noon EST for data from the last day.

Which of the following will ensure there is data in the report?

A. Schedule Data Purge on the Aggregator to run every day after 5 am EST.

B. Schedule Data Import on the Aggregator to run at any time of the day.

C. Schedule Data Import in the Aggregator to run every day before 2 am EST.

D. Schedule Data Import on the Aggregator to run every day at 6 am EST or later.
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Correct Answer: C

QUESTION 4

Which use cases are covered with the File Activity Monitoring feature? (Select two.)

A. Classify sensitive files on mainframe systems.

B. Encrypts database data files on file systems based on policies.

C. Selectively redacts sensitive data patterns in files based on policies.

D. Provides audit trail of access to files, alert and/or block when unauthorized users or processes attempt access.

E. Identifies files containing Personally Identifiable Information (PIl) or proprietary confidential information on Linux Unix
Windows (LUW) systems.

Correct Answer: AE

QUESTION 5

AGuardium administrator needs to upgrade BUNDLE-STAP on a Linux server to the latest version using GIM. What
parameter should the administrator set to ensure the upgrade will not require a reboot of the server?

A. KTAP_ENABLED=1

B. KTAP_NO_ROLLBACK=1

C. KTAP_LIVE_UPDATE=Y

D. KTAP_ALLOW_MODULE_COMBOS=Y

Correct Answer: C
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